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. 3. Time
1. Incident Name 2. Date Prepared Prepared UNIT LOG
Kalamazoo River/Enbridge Spill 12/10/2012 1725 e al
4. Unit Name/Designators 5. Unit Leader 6. Operational Period :
Dan Capone & Chris 12/10/2012
Name: Lantinga (START/US From:
EPA) 07:00
CBR Team #1
Position: | Operations Section Chief To: 12/10/2012
1725
7. Personnel Roster Assigned
Name ICS Position DUTY CELL
Dan Capone Operations Section Chief
Chris Lantinga Operations Section Chief
Dan Zahner Field Team Lead
Marc Wahrer CBR #1
8. Activity Log
LAT LAT
Activity Area MP-33.00A/B, MP-21.50 Various Various
(DD.MMMM) | (DD.MMMM)
EXTENT OF OIL IMPACTED NA
OlL OBSERVED AREA
DENSITY OF OIL /SHEEN NA
To_tal Collection NA
Points
Total Boom
Deployed NA
START CBR Team 1 Activity:
START CBR 1 conducted oversight of Enbridge Team of Ted Reckers (Team Lead) and
Marcin Steciak. In the morning Ted went with another Enbridge team and Marcin went
with another Enbridge team to get training on the Trimble. | met up with Ted at MP-
33.00A/B after completing the other work I had at C3.2 for core logging/sampling.
Activit Following the training, Ted and his team met up at MP-21.50 to begin setup at this
ctivity

sediment trap. The boats met us at a small launch site just south of MP-21.5 and Marcin
rode the boats over to MP-21.5 and Ted and | drove to the construction office just east of
the 21.5 sediment trap. They got the transect lines set up on the island portion of the
sediment trap 21.5. However, they setup the base station and were trying to get the back
shot collected and the Trimble unit would only read out minutes, seconds degrees and not
X,Y,Z. They trouble shot for a while and called for assistance but they could not figure it
out. They finished for the day and will begin again in the morning.

Weather: Morning 35 degrees, rain/snow and some wind; afternoon 34 degrees, overcast
and some wind

Health and Safety
Issues

none




Comments | Notes for this 214 are in the log book CBR-1
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